

zad. 3; str. 86 (p)

$$c) \quad \frac{2}{3} + \frac{1}{5} = \frac{10}{15} + \frac{3}{15} = \left(\frac{13}{15}\right)$$

$$d) \quad \frac{4}{7} + \frac{1}{2} = \frac{8}{14} + \frac{7}{14} = \frac{15}{14} = \left(1\frac{1}{14}\right)$$

$$e) \quad \frac{8}{9} - \frac{1}{3} = \frac{8}{9} - \frac{3}{9} = \left(\frac{5}{9}\right)$$

$$f) \quad \frac{3}{10} - \frac{1}{5} = \frac{3}{10} - \frac{2}{10} = \left(\frac{1}{10}\right)$$

$$g) \quad \frac{4}{5} - \frac{2}{3} = \frac{12}{15} - \frac{10}{15} = \left(\frac{2}{15}\right)$$

$$h) \quad \frac{5}{7} - \frac{1}{4} = \frac{20}{28} - \frac{7}{28} = \left(\frac{13}{28}\right)$$